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VICS ( ) /2

Ry ={1, 2, 4,8},
R,={1,3,5,8},
Rs={1,275,8},
ob Re={L 3,64, 8.
Q"
Q%={d%ld%=d,j=12 .. N} (2
d 1(a1 R®),or
0T RS.
g j
N:

R R
Q:=(,10100,0,1),
Q.=(,0,10,10,0,1),
Q:=(14,1,00,10,1,1),
Q:=(10,1,1,0 1,0, 1).

R'S Qrsk 1
qrskj 1
j Rrsk a'ski i
1 10D
1 erk
" qrskj‘l‘ Qrsk C qrskj =1,
$ frsk . j® i | arski ] Rrsk C arski = J (3)
@ .
rs P
rs k R )
By ={by | by=d,1=1,2, ..., N}
Rrsk = {arski | i= 12, ..., mrsk}. (l)
o i ()
ki - d| = 1 ( )’ or
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=o( | ). Sw
Q% By #

#:(Q% Bp) ® Srskp (5)
S% ={S %l |S%= 1, 1=1,2, ..., N}
j1 = 1(d*%=1C by =1), E

= 0(q"w=0C by =1), or

= * (by =0). Find B, such asE(H,, C,)® maximum,

S%p =1 | where Hp = -S16SX kol 09(X %)

e =0 | X% = 1S5l / K™
* Co = lIByll /N (6)
S Bp Hp:
Q% Co:
t K™: rs
ISAE S
[IBoll :
E
NP
4 5 TABU
B1
B,=(0,0,0,1,100,0)
Ri R

Q#B1 =S =(***1,0%*, *, %), Dial
Q#BL =S =(*,*,*01,** %), 1] efficient path

Q3#Bl = 831 = (*l *! *1 0; 11 *l *1 *) = SZ]—’
Q4#Bl = 841 = (*l *! *1 1; 01 *l *1 *) = Sll
&)

2 4 B,
B,=(0,1,0,1,0,0,0,0)
Ri R

Q#Br =S = (5,1, %, 1, %, %, %),

QHBy = Sy = (£, 0,%, 0, %, %, *, %),

Qu#Br = Sip = (*,1,%, 0, %, %, *, %),

QutBy =Sy =(*,0,%, 1, *,*, *, *). n

Q% By #
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#
#":(Q% By) ® S 7
S% ={S %l |S%= 1, 1=1,2, ..., N}
I 1(E(q%=1C by =1
|O=i-n,..., 1), £ = 1, T5(y) = X)),
0(9°%=0 C by =1), or

= * (otherwise).
I n
) Ex=H, +d(1- Cy) ®
0 d =1 ( ), or
=0 ( )
* (El, n:())
3
(E,, n=3) 5 (E,, n=5) 3
Ez
1 E2=H,* (1-G) 9)
5 (E,, n=5)
4 5
B, 1
B.=(0,0,0,1,1,0,0,0) 1
Ri R
. E,, n=0 729 (100%) 50 (64%)
Q#B1=Su=(1%107%**7), Ey, n=3 729 (100%) 37 (47%)
Qz#lBl =S, =(*,%,1,0,1,*, *, %), E;, n=5 729 (100%) 33 (42%)
. E;, n=5 501 (69%) 18 (23%)

Q3# Bl = 831 = (*1 *! *l 01 1| *1 1! *)!

Q#'B1=Su=(***1017%*). 3
4 E,

2 E, 18
69%
1.5km 13
3
240
78

Dial efficient path

729
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#Beacon = 50 #Beacon = 37 H — |
Q 120 - Counts of Links on Paths (Total 729 paths, E=6.82)  _ 100%
-- \ /Beacon < v Beacon |
[ A= 100 | i
< ¢ > _ 1 80%
Ot oOTvA(A(/ 0 o | '
O\ o 1 1 60%
A
Y, A A 60 L
X c \ 1 40%
A - 40 ’
A A A
N < < A 20 F H 1 20%
0 s S NN ! S |_|| min Ml 1 0%
Eq,n=0 Eq,n=3
123456 7 8 9101112131415 16
#Beacon = 33 #Beacon = 18, # Identified Path = 501 4 ( )
) Beacon Beacon
A A
as
Oy QO O+ O n
(@) (@) ¢
A A
»
P @) (@)
A
< A < < A
Eq.n=5 Ep, n=5
3
n
n=0 1/n
[1] Dia, R.B.. A probabilistic multipath traffic assignment
algorithm which obviates path enumulation, Transportation
Research 5, pp.83-111, 1971
n
n
4
n=10
n
n
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